2.{. Vuqbhh, hwubjhh, mupppnipju,
pwiunpnh npnonudp (dh pwith puynd)

bpljuwgh htop qpuapnnhl

1. bpbjuwlbpp 78 unitul hwyjwplighl: 18-p Gihtighl, huly Juwgwop 15-wljwl
pwllwlbipp jgptight: PwUp pwllw oquwqnpoykg:

j Muunybpwgpnt” vklp tlp wyn tptluwltpp: CGnuwdkGp 78 uniGy Ep, nphg 18-p hqqh:"'g
ghlp, niptidG 60-p uGwg (78 - 18 = 60): Uyn uGwgwd 60-p pwlwbtinG tip 1gGnid” wwhtijne:
U6 pwGyuwyph dtig 15 uniGly tlp 1glnud: 15 wnwohbh dtye, 15 tpypnpnh dbyg...: Muwwnmyt-
pugpnt' 15, 15 ... kGp npb: Lwlh® pwGyuygh untGy Y, wjuhlpl pwGh® 15 umGy fu: Uy
ytpy' 60-h Wt9 pwGh”® 15 Yuw: 4, npnyhtinl 60 : 15 = 4:

2. Uwlljwwwpubq 4 wwpl wynp pipighl, wdtb wwpynd™ 15 Yq: 49 Yq-
ny fudnptinbl pluighl: huspuill wpnip duwg:

E Ot m Gu dwlijuwuwpntigmy Gip wpfuwnmnd: 4 yupl wynp Glp unwgt), b wikl
- wwipynid 15 Yq b MpbtG pwGh® Yg wiynip blp unwghig: 4 hunn 15 4g-p 60 Yq b (4 x 15 =60): |
Ujn 60 Yq-hg 49-n owhuutighlip” wyynipp 49 Yg-ny wwjwubg b 11 {q npupéun] (60 —49 = 11):
Uph dbq unmqbiGp: Gph 49 4q wpynip owhuuby tlp nt 11 Yq dGwgh) £, mpbdlG uyqpnid
nilbkgty LGp U wyn 49 Yq-np, W 114q-n, wyuhlpG 49 + 11 =60 (4q): Utlp wyn wnipp hwjw-
uwpwybiv [gwo 4 ywnplytpny Glp vnwgty: 60 Yq-n 4 hwjwuwnp dwubtinny EhGp unwgty,
niptul wikl vkyp 60 : 4 =15 (Yq) kp’ wdiklG wupyp 15 Yq tp Ypend: ulGngpnud htilGg wnutu
E“I:p, niptidG vhklp fulnhpp dhpwm tlp noty: 3




rh plnpr (moklf

“3 2wppnid 9-wwl dwpn £ Guuwo, hull dGwgwo pwppbpmd” 8-wlw
dwpn: 5 pwppmd pwGh® dwpn E Gunwo:
wntisrejseeeg 43 eeelnde

Lqus Dwuydwrynpind

(Gpt ulinhpGtipp motihu ndwpwlwu, ytpund nogwo fulinhpGtphG Guw-
jhn: Guwpnuw, nipwnhp dnwohp nt fulinhpp hwumww Jniotu:)

1. Gpbp nuwuwpwGGhphg jnipupwlsjniphg 6 Ywpn UpgmiGhph qGwg: Lpwi-
ghg 5-n dpgwlwl unwguw: Lwih® dwpn dpgululy sunwguy:

2. Gpp dbp funhwpwpp yupundhih wuwpyhg 4 wiqud 3-wlwb g oqunw-
qnpotig, wjlwntn 2 Yq Jupundpp vGwg: Nupynd hGspw’d Jupundhy
Jup:

3. Gpp 7 mnunp yuGqunenid howy, wunpmunid Gpulghg 3 wiqud wytih
ninunp WGwg: Uygpnid wjwmnpniuntd pwGh® ninnp fun:

&. Gpp 8 yugnpn dpgnmiGhphg nnipu dGwg, Gpulghg 3 wiquyd wybih dwpn
2wnniGuynid Ep dpgbp: Uygpnid dpgmudGphG pwGh® Jugnpn Ep dwuGuy-
gniu:

3. Gpp mwywnhg 6-1hnpwing nniyny tptip wiquy 9mp hwGbghG, wjGnbn
12 1 WGwg: Swljwnnid hGspw®G 9nip Jup:

6. GptluwGtpG pptlGg unwguwod JupniGgh ptippp 5 quipjmnh dt9 1gphG,
wikl quipnimh k9" 6 Yq: 28 §q quipjmnGtpmy smbnuynpytg: LwGh®
Uhmngpud upnilq Yup:

4. GphjuwGbphG wmbwpbp pwdwGbnig htin Jwyphyh dnn 2 wmbwp dGuwg,
ugpmd inwohg 3 wlquwd phs: GpaluwGtphG pwGh® mbnp pwdwibg:




. rypngh pmptimb 9 wpyn plujwop unwguwy: Gpynt op htimmn pnptinnid

10.

1.
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13.

14.

8 4q pfujwop vGwg: Gpynt opmid pwGh® Yhngpud pluguwop JudwntghG,
tiph wikG wpynmu 2 Yq plujwop Jun:

. UpubGh pwhwo dwwmhwnbbpp

dwjphlhu htimn 5 wnithh dho
nwuwynpbighlp, wdkl wmnithh
uti9" 12 dwwnhwn: § twwnhwn wnnt-
thtiph b9 smbtnuynpybg: Upub-
Gp pwGh® dwwnhwm Ep putht:

UwnpunuwjhG  jfuwlmpmd 60
qlnul Juwp: 9npwlg dh dwup
S gwlgh dt9 1gnhG, wdiklG gui-

gh utg" 7 qlinwy: Swlghg nnipu
pw@h® qGnuy dGwg:

ChlGwpwnGbpl wywqulhg

snpu 30 [-wlng mwwnny 9nip

ytingphG, nphg httmn wjwquwbnd 15 1 9mip dGwg: UJuqulnd uyqpnid
pwh” (hwp 9nip Yup:

QpnydwlhyGiphu hwjwpwonil 3 wypnih dh9 nuuwynptijnig htivnn 24-n
nnipu WGwghG (squpnnuguw wntnuynptp): <wjwpwonthu dk9 pwGh® npn)-
dwGh) Jup, Gph wdtl wypninmy 70 npnpdwGh) Ep mbnugnpyty:
CaytnGtphu htim Yhlnuiwpwliwlwi wjgnu qpnulbihu 240 npwd owfu-
utigh, U hG4 dnn npulhg 3 wiqud wybh thnn dGwg: hGd htin hGspw”a
thnn th JhlnuGwpwliuwlwb wjgh mwnt:

17 ¢ ntighGt funnnjujhg 4 thwGiwl Yunp YuptghG ni Efp S 8 dGwg: UdkG
Junpp pwGh® dtwnp kp:



2.8. UVGonipymuuph hwddwwmnudp
(dp pwuh puyny)
Epkpuwgh hbiyp qpunynnhli

1. Up puwlwpwlnd 9 pbwyhs Yup, puly djpeund” 6-ngd wywjwu: Gpypnpn
plwlwpwlh plwyhgbtipp pwUp’ wbqud Ehu phy:

=" Gpym pGwlupwllbphg dtynud 9 dwpn £ wwpmd, doniuntd” Gpubhg, wjuhGpl 9-11;']-‘--.E
6-ny wuwwu: NiptdG tpypnpy pGuwlwpuwbnd 3 dwpng £ wypnd (9 — 6 = 3): Lywlwymy k,
- Ukilp whwh wwpqblp, pt 3-p 9-hg pwlh® wiqud t phs jud 9-p 3-hg pwlh” whqud  ywwn:

bwd 9-h dhig pwGh® 3 Yuw: NipbiG' 3 whiquuk (9 : 3 = 3):

2. lvwnwihp wpontyp 200 npud wpdb, huly fuwnwihp qhbynpp’ 2 wuqud wuw-
Yuu: Uponilyp ghlynphg hugpwling E pwiiy:

: flownuwihp qhGynpG wponiyhg 2 wiquy phy wpdt' tdwG t, GpuGuymd £, np ulpgmlﬂlfi""g
- wfwd thnnny' 200 gpuwiing Yupng blp 2 ghGynphy qGy: WyuhGpt 2 huwn qhtynpp 200 noua |

| tili: 2 hwn puiGh® npud@ t 200 npuad: Ghyw £ 100 npundp:
' Uwnnigt®Gp: 2 hwwn 100 npudp (2 x 100np. = 200nn.):

LLrh pulghr (mdGf
“Qwﬁllnﬁn 120 nnqup wnpdt, huy qqbiuvnp’ 3 wliqud yuwlwu: PwdynGa
qqtiunhg hGspwGn™Y t pwGy:
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Wt 9 Wil
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blqus Duwrlynipinb

(Gpt ulinhpGtipp notihu ndwpwlwu, yiptnd neogwo funhpGtphG Gu-
Jhn: Gupnuw, nipunhp dnnwdhp nt fulinhpp hwumw'wn Jniotu:)

1. LwphGhl 3 jpwnuihp £ ywwpwunb;: Qw UpdbGh quuopuunwohg 2
wlquu phy E: N £ wybih pwn fjuunuihp yuwwnpwuwnt] b nppuwGn®y:

2. Unwohl nuuwpwlnyg 6 wywhwpwb Yw, hul tpypnpnmyd” 3-nd wuljwu:
Unwohl nuuwpwlnid pwlh® wiqud pwwn yuwhwpw Yu:

3. Unwohh huwnuwytuhG
dnmnpnihumbtipn 5 qn
futhtighG, huy  tplpnpy
fJuwnuitiuhG® 5 wlquu
phy: Gpypnpn juwnuljb-
uhG pwGhun®y ywlwu gqny
[uthtigh(:

&. 5 wpyn uvwnpp 45 Y4q t
yonnid, hulp 6 wpyn fuw-
nonp 18 Uq: Uh wpyn
fuwnnnG £ ow’Gp, pt® dh
wnyn vwnpp: LwGh” wi-
quu:

9. 6 mnuh dwwhwp 48 q £ Ypnmd, hul 4 i ntnhGp' 16 g: Uh iimith wi-
wmhwp Uh wnith ntnhGhg pwGh® wlGquy k owin:

6. CGYLpGLpu m Gu 3 pwpp fuGadnptGh wGYtghGp, wdkl Jwppmd’ 5 dwn:
Gnpwypu nt hp pGytipGepp 8 uGdnptGh mGytghG: UtGp pwGh® fuGdnptiGh
wytih mGytghGp:
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14.

. {<nnuuiwuhg 55 dubkpniy hw-

. Uygnmd 5 pwpp Jtnwutlh

Gnpwypu 20 wmwptjwl E,
huly pnypu Gpwlhg 15 nmw-
nny thnpp t: Lnypu bLnpn-
nhgu pwGh”® whquwad t thnpp:

Juplighlip, hulj ubju" 44-ny
wwlwu: Qutpnmyp pwGp”®
wlquwu wykjh Ep:

Jw (wikG pwppnid 8 dwn)
u 4 rwpp fuGénptGh (wikG
owppnid 5 own): luGanpti-
GhGtpp YenwutGhGtphg pwlh® wliqud GG phy:

4 ninuth dwwnhwn mGbd  (wdbklG nnihnmd 20 dwnhwnm) b 4 mnug Gpuqnphy
(witG wmnuthnd 10 Gwqphy): UwwmhwmGbpu GpugphsGiphgu puGh® wi-
quu k6 wwm: buy pwGhun®y LG ywwn:

Utin nwuwpuwGpnupngh wjgnud 14 own £ wmGht): GFw pGltpnou nuuwpwih
wnGywohg 2 wiquwy phy t: N°n nuuwpwG6 £ wytiih punm own mGyt) b np-
pwln®y:

Pwghihn juwunniG, s)hwihwmGbph fuwpbng, 18 nuyh Ep gnnuigty, npG Ujh-
uw wnytuh gnqugwohg 3 wiquwy pww tp: N°Y Ep wybih Qun gnnuighi] b
hGspwGn®y:

BaanYyGapG nm wnwyGhGipp UnfupnunpG oqlimd thG nuwp gnptGhg
wnw(dGwglbn: UnuyGhGtpp 24 4q dwpptighl, 6GanniyGtph Swppwohg
3 wlquu pwwn: Npn°Gp wybih Jwuwnm JwpnptghG b hGspwln®y:
Gpunupwind 3 wwhwpwGh vt hwjtiptl gqpptip GG (wikl ywhwpw-
Gnid’ 80 ghpp) U 4 nupwy pnubpkG gpptip (wikl pupuynmy® 20 ghpp):
QuwytiptG gpptpp nnutiptiG qpptiphg pwGh® wiqud GG Jwwn:




2.9. epyne wpmunpyujuph qnudwph npnonedp

bpljuwgh htop qpuapnnhl

1. Uqnud 5 owpp Ytnwubtith uw (wdtb oswppnd® 8 6win) U 4 swpp fuldnptitip
(wdbl swppmud® 5 swin): Yyqnud pwlp’ swin Yuw:

- Ujqnud puppbipny YtnwubkGhGbp b fuGénptiGhGbp G6 mGyywo (sqghwnblp, pt nph'g ha 2-
pw'l): YUhnwubtGhGph witG puppnid 8 dwn Jw, niptul 5 wynwhuh wuppnd YihGh 5 wi-
quu pwwn’ 5 x 8 =40 (dwn):
luGanptGhGtpn 4 Jwuppny G0 mGYYwo, wikl puppnid” 5 own: UdkG Juppnid S dwn Lk,
niptul 4 puppnid” 4 wmpwl, wjuhGpl' 4 wlquy wytiih' 4 x 5 =20 (own):
: Ujgmud juGdnptilGhGupp 20-6G GG, huy YhnwubGhGipp 40-p, mpbdl wjgmd plpudkin
.20 +40 = 60 dwn Yw: 5
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aUﬁﬁwﬁ 3 qphy mt 6 mtip qGtg: Uh qphyp 40 npwd wpdbp, huly dh mbnpp
30 ngpud: WGaGw6 pwGh® npud Jdwnbg:

lnLé/L/z nL Wugmmu/umhm{ #a[ ul{LnLq/L[L.’
w300 Werey:

blqus Duywrlnipiml

(Gpt fulinhpGtipp notihu ndwpwlwu, ytpund nogwo fulinhpGtphG Guw-
jhn: Gupnuw, nipwnhp dnwohp nt fulinhpp hwuwmwwn Jniotu:)

1. CGytpGtpu m tu 3 Qwpp fuGdnptiGh wmGYbghGp (wdkG Jwppnid” 5 dwn),

hul tnpwjpu m hp pGytpGhpp’ 2 pwpp (witG pwppmd” 8 fuGdnptGh)
nGytighG: Aninpu YhwuhG pwGh® own mGytghGp:

2. Qypngny 3 wyjunpniuny U 4 Jwpnuuwp StphGwGbpnyg Epulnipuhw
qlwghbp: UULG wywmnpniuh vt 15 dwpn tp Guwnby, huy witl dbphlwjh
k9" 5 dwpn: Lwlh”® dwpn tp tpuynipuphw qGugt:

3. Utp wjyqnt fuGanph ptippp 3 wpynh dtie hwjuwuwp (wikG wpynmyd' 14 4q)
19nhGp, huy vGwgwon 5 mnwpwlh vty (witl vhymd” 4 4q): CGnwdtip
pwGh” Yhingpwd fuGénp thGp hwjwphg:

4. Gpp dwwnhwnGtpu 7 nnh b9 hwjwptigh (wdtl nnohnid’ 20-p), dGw-
gwon 2 thnpp wnwpwyh vk (wikl dkymy’ 12-p) mbnuynpytg: LwGh®
dwwunhw nilGbh:

9. QulGdwlwlyhu 10-npuiwlnglGtpp 4
unithh Uh9 wmbnuynpytighG (witl ub-
ynut’ 10 hwwn), huy 20-ngpuiwlngGlipp” 1
wnnithh dt9 (20 hww): Gupn®n tu hwpyty
quldwlwlhu dt9 hGypw’G thnn Ep hw-
Jupyti:

6. JhGh-Onifup Gnp dtnpp 15 pwGlugh dbe
mbtnuynpbg (wdkl dtymd® 4 Y4q), huly
Ulwgwon 2 pwljuwyny (wdkl dtynud 3




4q) HGshyhG wmytg: LhGh-Onifup pwGh® Yhngpwy Gnp dbnp Ep unwghy:
Junwl hwiwnp dptipuo Jupumnphip 10 wpynh by hwjwuwp (wdkG

wnpynnud® 15 4q) 1gnphGp, huy dGugwon” 2 wwpyh vt (wikl yupynd® 12
U4q): Clhnwiklp pwGh® Yhingpwy Jupundhy thGp dpbipt:

. Uwljwunwl Gpojuwltph hwdwp dtp hwjwpwo qpptipp 7 wpinh dbo

nuuwynptijnig httin (wikl wpynmd® 30 qhpp) dGwgwo qpptipp 2 mnw-
pwh dbke nptighGp (wikG dtynid® 6 ghpp): LwGh” ghpp EhGp hwwpt:

. NMwuyhyhu 80-wijwyhb vklp tpym Yhipnwywmnpniuny b 3 dwpnuwumwp

utiptifwGbpny pwnwphg nnipu qGughlp: UdkG dhpnwywmnpniumd 12
dwpn Jup Gunwo, hul wikl dtptGuwyh dke” 5 dwpn: Gpb unpn®n tu, hw)-
Uphp' pwih’ hngny G2kghlp wuwwhljhu 80-wijwyp:

10. Lwy Lwqupl hp uvywlwd Gwishpp qintighy wmhtiph W69 nuuwynptg’

1.

12.

13.

14.

19.

dwnpnulg vnn qnifup gnytint hwdwn: 25 dGo minithh dbe uho dwldtpn
nntg (wdtl dhynmy” 20 dw6d), huy 20 thnpp wmnuthh 69" thnpptipp (wdkl
utynid’ 25 hww): Lwe Luqupp pwGh” Gwad Ep vyl

Gnuwnunpwih hwdwn q0wo gpptinn YuwngGbpny nupng mwpwlp: Gnpb-
nh 11 yuwngltinhg wikl dtaynmuy 13 ghpp tp, huy dGwguo 5 juwngltinhg
wikl dhynd” 10: Qwypng pwGh® ghpp mwpwGp:

3 wywmnpniuny b 6 dswpnuumwn dtptliwny qpnuwppohliip Uwwnbtiwnu-
nwi Gwl: UdEG wyunpniuh gt 25 dwpn Ep Gunby, hul wdtl dtptlwjh
ut9' 5 dwpn: LwGh” dwpn tp UwnbGunupw6 tpujmpupw Gty

Swpptin tpypGtph thnnbph hwjwpwonwu 10 nqupwyh dte nuuwynpbkgh
(nipuwpwlgynipnd” 35 hww), hul wytjugwo 13-p° thnpp jupl mnwypwyh
ubk9: Lwjwpwonihu dti9 pwGh”® thnn Yu:

Gnuwjuwlnphg vbp qGuop yuwngGtpny nupng mwnpwp: Gpptiph 15 Ju-

wngGtphg witl dtynmud 30 ghpp Ep, hull mbunpbph 5 juwngltphg wikl
utynud’ 100 mtinp: LwGh” ghpp b mbwnp EhGp qGhy:

Ujuopn 5 Yq ywpnilq b 4 hwg qltgh: Uh Yq JupnilGgp 400 npwd wpdtn,
huly dh hwgp' 120 npud: bGspw”G thnn dwhuubgh:



